Use the following to answer question 1.

The researchers conducting this study wish to estimate the winnings when the average number of putts per hole is 1.75. The following results were obtained from software.

	 Predicted winnings
	Standard error
	95.0% C.I.
	95.0% P.I.

	653.6
	61.62
	(530.6, 776.6)
	(77.7, 1229.4)


 1. The researchers wish to estimate the winnings for a tour pro whose average number of putts per hole is 1.75, what would be a 95% prediction interval for the winnings?   

A) (77.7, 1229.4)       B) (530.6, 776.6)   C) 653.6 ± 61.62       D) 653.6 ± 123.24
Use the following to answer question 2.

 The data referred to in this question were collected on 41 employees of a large company. The company is trying to predict the current salary of its employees from their starting salary (both expressed in thousands of dollars). The regression output is given below as well as some summary measures [image: image1.wmf]
 2. John Doe works for this company. He started with a salary of $15,300. Predict his current salary.
 A) $28,750
    B) $30,610    C) $32,640     D) $32,885)
 3. What is a 95% confidence interval for the slope b1?
 A) (–0.875, –0.167)   B) (–0.685, –0.357)   C) (–1.04, 0.001)   D) none of the others 
 4. Suppose the researchers conducting the study wish to test the hypotheses H0: b1 = 0 versus Ha: b1 > 0. What do we know about the P-value of this test?
 A) The P-value is greater than 0.10.               B) The P-value is between 0. 05 and 0.10.
 C) The P-value is between 0.01 and 0.05.    D) The P-value is less than 0.01.
Use the following to answer questions 5-6.

The following (partial) ANOVA table was obtained from data on 79 subjects:

	 Source
	DF
	Sum of Squares

	 Model
	1
	32,809,212

	Error
	
	16,734,234


 5. What are the degrees of freedom for SSE, the error sum of squares?
 A) 2        B) 77      C) 78     D) 79
 6. What is the value of F for testing the hypotheses H0: b1 = 0 versus Ha: b1 
[image: image2.wmf] 0?
 A) 1.96         B) 77      C) 150.97     D) 217,328
Use the following to answer question 7.

Many statistics are collected in the National Hockey League.  In the 2006-2007 season teams played 82 games. A team was awarded 2 points for a win and 1 point if the game was tied at the end of regulation time but was then lost in overtime. For each of the 30 teams, data on the number of goals scored per game (Goals/G) and the percentage of the 164 possible points they won (Win%) during the season were collected.  The following graph shows the plotted points for the variables Win% and Goals/G and the simple linear regression line fitted using least squares:
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From the computer output for the least squares fit, the estimated equation was found to be [image: image4.wmf], [image: image5.wmf]= 0.398, and [image: image6.wmf]= 60.29. 

 Also, it was determined from the output that [image: image7.wmf]= 12.800 and [image: image8.wmf]= 4.418.
 7. Using the above information, which of the following statements is (are) FALSE?
 A) 39.8% of the variation in the Win% is explained by regression on the Goals/G.
 B) An increase of 1 goal per game results in an increase of about 19% in Win%.
 C) If a team scores 3 goals per game we would predict a Win% of 50%.
 D) The Ottawa Senators scored 3.49 goals per game and their Win% was 64.0.  The residual for Ottawa was then –3.32.
 E) The mean value of the Win% variable is 0.932 when the Goals/G is 0.
Use the following to answer questions 8-9.

 In the National Football League, an effective passing game is seen to be important in scoring points.  The following information for the 32 NFL teams concerns the points a team scores per game (Pts/Gm) and the percentage of its passes that were completed (Pass%).  The ANOVA table is provided for the simple linear regression fit of Pts/Gm on Pass% (some entries have been omitted and replaced with ****):
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From the computer output for the least squares fit, the following results were given: [image: image10.wmf], [image: image11.wmf]= 0.3786, and [image: image12.wmf]= 4.001.  Also, it was determined that [image: image13.wmf]= 61.05%, [image: image14.wmf]= 425.28, [image: image15.wmf]= 11.865, and [image: image16.wmf]=0.194.
 8. What is the value of the test statistic for testing Ho: [image: image17.wmf]= 0 against Ha: [image: image18.wmf] 
[image: image19.wmf] 0?
 A) F = 4.28     B) F = 3.70     C) F =18.28     D) F = 11.86
 9. What is the standard error of the estimated Pts/Gm for a team that completed 60% of its passes?    A) 1.034    B) 1.017    C) 0.707     D) 4.068    E) 0.194
 10. For the 2007 NFL season, data are available on such variables as the total yards gained by passing and by rushing for each of the 32 teams.  The following is a scatterplot of the two variables, PassYds and Rush Yds:
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It was found that the correlation between the two variables was r = –0.313.  In a test of hypothesis of Ho: r = 0 against Ha: r 
[image: image21.wmf] 0 with a = 0.05, the value of the test statistic and its degrees of freedom are, respectively
 A) t = –1.81, df = 31    B) t = –2.04, df = 30    C) t = –2.04, df = 31   D) t = –1.81, df = 30.
 E) unable to determine without knowing SSM and SST.
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